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e M 8. Round 104,406 to the
9. Round 78,627 to the ‘ nearest thousand
nearest thousand. q. 1-6kg + = 2kg
10. 300 x 100 = | 10. How many lines of symmetry
11. Through how many degrees must you turn \ has a rectangle?
to go from east to west? W T R
12. The average of 3 numbers is 19 ‘ S
\ Two of the numbers are 17 and 24, 4
. What is the third number? | 11. What is the difference
: bet 09 557
13. What is the value of sween and 055
the unknown angle? 12. How much less than 100 is 7 x q?
13. How many degrees does the minute hand
’ of a clock turn in 15 minutes?
14. How many lines of n: _
symmetry has a square? | 14. The average of 4 numbers s 14.
re— What do the 4 numbers add up to?
15. What'is the difference & 15. % X q =
between 07 and 0-35? B
16. A large redwood tree was 220 years old. 10 people shared q lotto prize of €528 000.
A beech tree was 10 times younger. - . A
What age was the beech tree? 16. How much did each person get?
17. 138 p‘upils were divided into 17. 1£ 2 people shared the prize, ]
11-0-5|dg soccer teams. How man how much would each person get?
more children were needed to |
make one more team? : 18. If each of the 10 gave 20% of their money
. to charity, how much would each person
18. Tom spent 0-25 of his money and have left for themselves? |
’ had €60 left. How much money e — |
| had he first? /i
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